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i PSI| %%+ |PSI| 5%4 |PSI|5%% | PSI | 5%+ |PSI| 7 4%
101%2201p 51 | PM10 | 48 | PM10 | 60 | PM10 | 41 (OX] 49 | PM10
101%2% 02p 34 O3 40 03 43 (OX] 42 (OX] 40 03
101%2% 03p 25 | PM10 | 27 03 23 | PM10 | 24 03 25 03
101%2% 04p 47 | PM10 | 38 03 48 | PM10 | 46 03 39 03
101%2% 05p 60 | PM10 | 56 | PM10 | 63 | PM10 | 46 03 52 | PM10
101%22 06 P 57 | PM10 | 62 | PM10 | 68 | PM10 | 46 03 64 | PM10
101%22 Q7p 35 | PM10 | 38 | PM10 | 40 | PM10 | 28 03 36 | PM10
101%2" 08p 29 | PM10 | 33 | PM10 | 26 (OX] 29 (O] 34 | PM10
101%272 09p 41 | PM10 | 36 | PM10 | 39 | PM10 | 24 (OX] 41 | PM10
101%2% 10p 41 | PM10 | 48 | PM10 | 63 (OX] 32 (OX] 44 | PM10
101%2% 11p 34 | PM10 | 32 | PM10 | 30 | PM10 | 28 P(K/Igl’O 32 | PM10
101%2% 12p 45 | PM10 | 47 | PM10 | 52 | PM10 | 41 | PM10 | 47 | PM10
101%2% 13p 43 | PM10 | 52 | PM10 | 50 | PM10 | 43 03 46 | PM10
101%2" 14p 64 | PM10 | 62 | PM10 | 74 | PM10 | 62 | PM10 | 62 | PM10
101#2% 15p 55 | PM10 | 49 | PM10 | 68 | PM10 | 50 | PM10 | 54 | PM10
101%2" 16p 36 | PM10 | 39 03 28 (OX] 34 (OX] 35 (O]
101#2%* 17p 37 | PM10 | 40 03 27 (OX] 34 (OX] 35 Pc|3/|31’o
101#2* 18p 50 | PM10 | 49 | PM10 | 40 | PM10 | 43 | PM10 | 50 | PM10O
101%2% 19p 36 | PM10 | 34 03 33 P(K/:Ial’o 39 (OX] 37 (O]
101%2% 20p 55 | PM10 | 48 | PM10 | 52 | PM10 | 43 | PM10 | 45 | PM10
101%2% 21p 86 | PM10 | 76 | PM10 | 30 03 78 | PM10 | 78 | PM10
101%2% 22p 78 | PM10 | 72 | PM10 | 9 | PM10 | 74 | PM10 | 81 | PM10
101#2%* 23p 60 | PM10 | 58 | PM10 | 70 | PM10 | 59 | PM10 | 63 | PM10
101#2%* 24p 50 | PM10 | 39 | PM10 | 47 | PM10 | 43 | PM10 | 40 | PM10
101#2%* 25p 41 | PM10 | 39 | PM10 | 38 | PM10 | 29 | PM10 | 36 | PM10
101#2%* 26p 27 O3 32 03 26 (OX] 31 (OX] 32 (O]
101%2% 27p 30 | PM10 | 34 03 23 | PM10 | 30 (OX] 31 (OX]
101%2% 28p 33 O3 36 03 30 (OX] 35 (OX] 36 (OX]
101%2% 29p 40 | PM10 | 46 | PM10 | 51 | PM10 | 38 03 40 03
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) PSI | 5%4 | PSI | 5%% | PSI |i5%% |PSI|i5%% |PSI | 5%t |PSI| 5%+
101#2% 01p 49 | PM10 | 48 | PM10 | 69 03 56 03 52 | PM10 | 43 | PM10
101#2% 02p 34 03 37 03 58 03 51 03 48 | PM10 | 35 03
101#27% 03p 23 03 19 03 37 | PM10 | 28 03 27 | PM10 | 24 | PM10
101#27% 04p 40 | PM10 | 54 03 87 03 63 03 50 | PM10 | 37 03
101#2% 05p o5 | PM10 | 47 03 70 03 60 03 56 | PM10 | 42 | PM10
101#2% 06 p 62 | PM10 | 53 | PM10 | 63 | PM10 | 54 03 56 | PM10 | 55 | PM10
101#2% 07p 40 | PM10 | 26 | PM10 | 37 | PM10 | 28 03 40 | PM10 | 35 | PM10
101#27% 08p 36 | PM10 | 22 03 31 03 26 03 33 03 27 | PM10
101#2% 09p 35 | PM10 | 35 | PM10 | 49 | PM10 | 31 | PM10 | 38 | PM10 | 35 | PM10
101#2% 10p 48 | PM10 | 43 | PM10 | 80 03 45 03 48 | PM10 | 40 | PM10
101#2% 11p 31 | PM10 | 27 | PM10 | 44 | PM10 | 28 03 47 | PM10 | 31 | PM10
101#27% 12p 52 | PM10 | 40 | PM10 | 58 | PM10 | 38 03 59 | PM10 | 43 | PM10
101#2% 13p 52 | PM10 | 38 03 56 03 44 03 55 03 38 03
101#27% 14p 63 | PM10 | 69 03 76 | PM10 | 47 03 69 | PM10 | 56 | PM10
101#27% 15p 51 | PM10 | 60 | PM10 | 78 | PM10 | 51 | PM10 | 63 | PM10 | 52 | PM10
101#2% 16p 37 03 28 03 45 | PM10 | 41 | PM10 | 47 | PM10 | 29 | PM10
101#2% 17p 40 | PM10 | 28 03 35 | PM10 | 39 | PM10 | 55 | PM10 | 35 | PM10
101#2% 18p 52 | PM10 | 36 03 50 03 39 | PM10 | 57 | PM10 | 42 | PM10
101#27% 19p 37 | PM10 | 33 03 46 03 39 03 46 | PM10 | 32 03
101#27% 20p 49 | PM10 | 50 | PM10 | 62 | PM10 | 39 03 70 | PM10 | 46 | PM10
101#2% 21p 78 | PM10 | 88 | PM10 | 102 | PM10 | 45 | PM10 | 55 03 69 | PM10
101#2% 22p 72 | PM10 | 82 | PM10 | 95 | PM10 | 64 03 74 | PM10 | 68 | PM10
101#2% 23p 59 | PM10 | 60 | PM10 | 70 | PM10 | 49 | PM10 | 66 | PM10 | 58 | PM10
101#2% 24p 43 | PM10 | 49 | PM10 | 59 | PM10 | 48 | PM10 | 51 | PM10 | 39 | PM10O
101#2% 25p 45 | PM10 | 37 | PM10 | 52 | PM10 | 42 | PM10 | 50 | PM10 | 32 | PM10
101#27% 26p 30 03 25 03 30 03 31 03 30 03 26 03
101#2% 27p 31 03 23 03 33 | PM10 | 27 03 42 03 27 03
101#2% 28p 35 03 29 03 35 03 35 03 44 03 29 03
101#2% 29p 49 | PM10 46 | PM10 58 | PM10 36 | O3 53 | PM10 41 | PM10
(o 2o+ A g T ET)
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101#27 01p 48 PM10 o7 PM10 41 PM10
101#27 02p 95 03 47 PM10 39 03
101227 03p 28 PM10 46 03 22 03
101227 04 p 37 PM10 "7 03 33 03
101227 05p 58 PM10 69 PM10 25 PM10
101227 06 p 61 PM10 73 PM10 63 PM10
101#27 Q7R 69 03 o4 PM10 36 PM10
101#27 08 p 36 PM10 47 PM10 26 03
10127 09p 38 PM10 48 PM10 28 PM10
101#27 10p 49 PM10 62 PM10 43 PM10
101227 11p 28 03 47 PM10 26 03
101227 12p o0 PM10 65 PM10 47 PM10
101#27 13p o4 PM10 62 PM10 48 PM10
101227 14p 62 PM10 79 PM10 63 PM10
101#27 15p 50 PM10 65 PM10 50 PM10
101£27 167 48 03 47 | PM10 | 37 03
101#27 17p 8l 03 46 PM10 39 03
101%27 18p 29 03 95 PM10 40 03
101#2% 19p 37 03 45 03 33 03
10127 20p 42 PM10 52 PM10 39 03
10127 21p 65 PM10 90 PM10 67 PM10
101#27 22p 61 PM10 79 PM10 70 PM10
101#27% 23p 69 PM10 76 PM10 65 PM10
101#27% 24p 49 PM10 95 PM10 45 PM10
101#27 25p 48 PM10 56 PM10 42 PM10
101%27 26 p 50 03 45 03 31 03
101#£2% 27p 41 03 42 03 32 03
10127 28p 40 03 39 03 32 03
10127 29p 45 03 S7 PM10 38 03

G o3t > R igshd > W%




4 TBiRFE- 4

LBlEE A P

22 2] &

SUET R
=k 27 7 Ak p #i AitEbp o L
Ay L3 B RRY ) L5 &3 A
2R 0 0 0 0 0 0 0.00%
oy} 0 0 0 0 0 0 0.00%
a4 0 0 0 0 0 0 0.00%
B 0 0 0 0 0 0 0.00%
g 0 0 0 0 0 0 0.00%
&3t 0 0 0 0 0 0 0.00%
MAAFASF=3F &F2 LR+ p /1008 p 5 %3P
25 TR - BpEE7 L p FAI 4
-, 2" % 2P Atk p i 7R
PE kw05 | &y kRb | 53 |ty |5A%
<@ 0 0 0 0 0 0 0.00%
T 0 0 0 0 0 0 0.00%
5 1 0 1 1 0 1 3.23%
& P 0 0 0 0 0 0 0.00%
= 0 0 0 0 0 0 0.00%
2 L 0 0 0 0 0 0 0.00%
&3 1 0 1 1 0 1 0.54%
WA RAFAF=2F &FF 2R p#c/100# p 5 Rt p
%6 § BlEE 7 %P Hokiit &
2% % Ak p ¥ Fotrbp i 72
Bleh | RS | S F £ | RRP | LF &3 | pAEF
Bz 0 0 0 0 0 0 0.00%
ok 0 0 0 0 0 0 0.00%
* ik 0 0 0 0 0 0 0.00%
&3t 0 0 0 0 0 0 0.00%
WA RFAF=2F &FF 2R p#c/100# p 5 Rt p ok




RSl R F

€R -3 RE & Bl ====FR

12345678 9 10111213141516171819202122232425262728203031
5 #

Bl T % plxk27 PSIHE % i 483 B

PStE TR

120

100 '

80

60

40

20

O i i i i i i i i i i I i i i i i i i i i i i i

12345678 9101112131415161718192021222324252627 2829 3031
8
B2 7 & Rl 2E2 % PSHE % 1 A& %" ]

pslte & E Rk

120

100 e e e e e e e e e e e e e e e

80 & —

o AT

-
40 S o
\_.—/
20
o L%, ———Fk AW == me TR

[F%]
=
[¥%]
—

123456789 10111213141516171819202122232425262728 29
5 #

B3 & 7 pxk27 PSIE % it 483 @




358

PSI>100 £

PSI>100 & 3t 4 B

16

14

._.
o

[=s]

S

18

16

14

12

10

——01E
—a— Q0

—o— 034

—— 04 /.

—=95E
—a—OREE

—=—97E
—— 98

m
U]

&5
<

= =
= =

I 2F 3R 4B SE 6F TR B8FE 9F 10R 1R 12F
A

B4 2 R il =-PSI>100 p dc2 3% 0 B 4% A 15 )

R

—— 03 /A

——o1% A A
(o | o |
| -

——OFEE

s S S
—A— 984 /" = = :/E(/QM
—K—094E

—— 1005 /

1012 P

7//?

15 28 3B 45 SH 68 78 8H 95 108 118 1A

2k
’—‘—’ ’:7 —
o o = /Q/ o

- 5
F=t Fa)

R
BI5 o5 APl =bPSI>100 p #cz & 0 % 4% A 1 ]




36 A

A
o

PSI>100 2

R

<+
o

PSI>100 %

15

RKE

At
B6 ~ 2 pzLPSI>100p #c2 & 1 % A & H

& 9 ¥

—E-05E 06 —e—01E A%

15 28 38 48 5B 68 78 88 98 1WA 1A 128
At
B7 2@ p|=kPSI>100p fcz 3% 7 %A A B




R

<+
o

PSI>100 £

PSI>100 & 3t 4 B

15

10

20
18
16
14
12

10

o9 4L, 35

—a— 01

—i— QDAE
—— 035 /

——04E
—B—05&
—A— 065

—— 97
—&— QR4
—— 99

>

e =a

1B 28 38 48 S8 68 78 88 98 108 118 128
A

B8 & # p|=LPSI>100p #cz & * % f 4 1 F

e
a

G Eh

; of ./ . .
—F:/ 3 e :./: : : ; : ; : . . .
15 28 3H 483 5B 6H 7H 8B 98 10A 118 12H

A 6
B9 % 2 p|:kPSI>100p #cz % F R A 7 B

10



20

18

16

14

12

10

PSI>100 % 3t 3 B

30

25

HEVE
(]
=]

15

PSI>100 &

10

KT ¥

E

1A 28

®/10 =

35 4H SH 6A TH 8F 9H 10A 1A 127
A

? 3P| =bPSI>100 p #icz iE 1 A A 5 B

K35

——01E
—B— Q4
—o— 034

——045F
—=—95F

#— OHTE
——07E
—— 08

/)

15 285 38 48 SA 68 78 88 98 108 118 128
A
B 11 Lp EEPSI>100 p B2 2 2 % ﬁn‘ 4 it [B)

11



PSI>100 % 3t 3 B

PSI>100 % 3t 3 B

L
(=]

.
th

.
o

8]
h

5]
(=]

o]
L

b2
o

15

10

25

20

15

FHiEs

—s—01E

=92

—— 3% }’/ﬂ—/ﬂ
—— G4 /

—B—95=

—A—O0pEE / .

25 38 48 SH 68 78 88 98 108 118 128
A

112 75 p|=LPSI>100p #cz & ' B f 4~ v B

15

& B ¥

t 11
o
o

1B 28 38 48 SB 68 78 88 98 108 118 128
At
B13 & p iR|=EPSI>100p #cz 3% ¥ % 4 4 05 B

12



Xl ¥

30
27 |—e—92=
—— G4 /’
24 | oz
_ —— 064 /
gm 97z /
#= 18 A— QR
by —¢—99%F oo /
= 15 —— 100 ¢
- ——101F
£ 1
9 = D//?. s =
g
6 @ o—46—=0
3 W
0 ' T T
1H 28 38 48 SB 68 78 88 98 108 118 1A
AT
B14 < Lip|=:PSI>100p #c2 i ¢ R fE A G H
27 4¢3 2§ &F & R ¥4 47 (PSI>100)
EX Bl I R N
ip Bz |PSIHE %4‘*” R F]A 44
101.02.21 | 5% =+ | 102 | Rb ik | 0B SRl =k ) 4 i 3 <
(i 53t REmg > Tis3T)

13




